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Only events whose ISR has small transverse momentum < 5 GeV

w/  ISR  cutpTw/o  ISR  cutpT

Half of  the inefficiency is due to large missing transverse momentum



w/  ISR  cutpTw/o  ISR  cutpT

Only events whose ISR has small transverse momentum < 5 GeV

around at high , and remains in the range  down to very small 80 % mττ 60 − 70 % mττ ∼ 10 GeV



The shape around the Z-pole

Not yet fully understood



We have maximally 2 possible solutions per tau

How to choose  “Best solution” ?

We take 2 entries from each polarimeter distribution,  and averaged them
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